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General Instructions :

‘ ENGLISH VERSION

() This question paper contains three Sections.

(i) Section?A has 24 questions. Attempt any 20 questions.

(ii1) Sectidn-B has 24 questions: Attempt any 20 questions.
“(iv) Section-C has 12 questions. Attempt any 10 questions.

(). All questions carry equal marks.

076

.'-X(a) Accommodatlon : (b) Transportation

Bt o5

Factors affecting motor development —

_"(vi)  Thereis no negative marking.

~ Section-A &
(Knowledge & Understandiﬁé}

Section-A consists of 24 questions. Attempt any‘20 questlons from this section.
20 Questions attempted first, will only be evaluated

ey “_! l) ‘\4 /
In planning, defining procedure,means =

(a) setting goals

(b) making a pohcy A

(c) formatlon of rules and regulatlon
(d) deﬁmng course of action N

Loglstxcs commlttee deals with —

(c)_‘ ,} Medical Staff (d) All of the above

(a) Personal (b) Psychological P "
(¢) Genetic (d) Allof the above

Standing broad jump is administered to testlf o,
(a) Explosive leg speed (b) Exploswe leg endurance

() Explosive leg strength (d) (a) and () both

paged
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5. Floor based physical actiyities should be planned for —
(@) less than 1 yeaf;‘éh,i_l,d (. (b)) 1-2year child
(c) 3-4 year child he (d) 5-17 year child
6. [Extensionis movement, that increases the angle at a joint.
(a} bending (b) straightening
"\ (c’:)»“\~ téﬁisting (d) turning
Carrot and orange come under -
(a) energy giving foods (b) body bulldmg foods
(c) protective or regulatory foods (d) Normal fodds

8. Which of the following tests is conducted' 7 ;measure cardiovascular
fitness? B '

(a) Back scratch test
(c) Harvard step Test

r¥
’*‘%‘g
9. If odd number&* of tearg§§are participating in a Round robin tournament
then the ,for:jn‘i’fif’%or calculating number of rounds is —
=1

(b) N(N-1),
d N+1

hich test is to be conducted to measure agility ? _
# (a) Standing board jump (b) 4 x 10 shuttle run }
.3 (c) Partial curl up (d) Push-ups

5

11. Mechamcal analysis of Javelin thrown by Neeraj ; ‘hopra w111 be done under— |

(a) B1ology (b) ; 'm‘B;anqchamcs
(c) Physiology ’ﬁa “Anatomy
g ;‘.%af;'-‘
075 ;j‘;;Pag’é‘*3 : BT.0.
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12. Which Netwton’s law of motion ist,depi(':‘ted‘ through the picture ?

Rebound of a rubber ball

' (é) Newton’s 3rd Jaw (b) Newton’s 2nd law &
f.‘?»‘" b ,‘ o
(c) Newton’s 1st law (d) Newton’s 1st & 2nd.]Jaw Q"\
Note : The following question is for Visually
Lieu of Q. No. 12 :

13.

076

Kicking off a stationary ball is an exam

(a)
(c)

o,

;,-

Law of Action and Rgaqﬂtlon‘f

(’1\

Law of Inertia ;7

IPL crlcket tournament is an example of —

(a)
(c)

(a)
(b)
(©
(d)

(b) > Law of Acceleration
" (d) . Both (a) & (b)

Knockout Tournament (b) League Tournament

Combmatmn Tournament (d) Single League Tournament

‘14 Balanced diet is related to —

Consuming right amount of vitamins

s )

Consuming all the nutrients in rxght amounp

Consuming excess of protein and‘mmerals

w
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15. Which postural deformity is shown in the illustration ?

_;’(ﬂ) BdW Leg (b) Knock Knee
(c) Flat Foot (d) Round Foot

; "JNote : The following question is for Visually Impaired Students only, in
Lieu of Q. No. 15 only : 2 :

Kyphosis is a deformity found in B
(a) Shoulders (b) Lumber région. s’
(¢) Thoracic region (d) Hi}‘)}g-f»f’ .

5

16. refers to inability to dlgest a~pézt .t1c 1ar Kind of food.
(a) Food Myths W ¥ (b!)% F d Intolerance
(¢) Food Tolerance %x (d) Healthy Food

15,.

17. In a knockout tournaméntgtlf byes are in odd numbers then number of
byes in lowemhalf is calclilated by —

NB-1
(b) 7
(d NB-1 & R
P Z{ ‘- ..‘ E . . ;
'@ ' . . A
E;gf’af%ls, #*Which vitamins were consumed the most during Covid ? -
i & "' N . ";"'
u?; W (a) VitaminC and D (b) Vitamin Band C_*
Y () Vitamin A and B (d) Vitamin B andD
b @b g
ig . . s %
’ 19. Flexion is movement, that decreas‘és the %anéle at the moving

joint.
(a) Turning (b) %Strglghtenmg
(c) Twisting « f (d)} ‘Beﬁ"dmg

076 P.T.O.
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20.

(a) | Newton's 15t law of motion (b)

22.

"_23

076

(a) Carbohydrates _ (b) Roughage

Which Netwton's law of motion is depicted through this picture ?

Newton’s 2°d law of motion . .
(c¢) Newton's 3 law of motion  (d) Both (a) and (b) 7 B }

P

Note : The following question is for Visually Impan'ed Students only, in
Lieu of Q. No. 20 : P

Newton’s 3rd law of motion is known as —
(a) Law of Action and reaction (b) §
(¢) Law of Acceleration

(a) V03 Max.
(c) V05 Max..,

“ () V04 Max.
(d) VO 2 Max.

welps' in smooth elimination of stool or faeces.

(c) Mmerals (d) Vitamins

“Sway Back” is also known as — R “
(a) Lordosis (b) Kyphosis ";i \

(c) Scoliosis (d) Round Shoulder

- g
Following are the constraints for women whlch restr‘ t thelr partlc1patxon
in sports, except —

‘-.
wh B Nl

(a) Psychological constraints (b) % Socml constramts
(¢) Eating habits \ c-,_'(d)‘ qunomlcal constraints
] '*"?‘Paé'('"S'G
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Sectloh B
- (Appllcntlon + Hots)
ection-B consists' 24 questions. Attempt any 20 questions from this
. ﬁectxo]? 2(;{Questxons attempted first, will only be evaluated.
. In a knoc out tournament, if 9 teams are participatin
th
byes m upper halfwﬂl be - P pating Fhen mumber of

\

GV : (b) 4
(0) d 2
26 In sports a Snooker shot is an example of —
(a)  Loco motor skill (b) Extended motor skill
“(c) Fine motor skill (d) Gross motor skill -
: - 27. Match the following :
‘ (1) (i)  Lower body ﬂexibility :
2) (ii) Upper bodyj}s.t‘ljfeng%tii'fﬂ‘f
3) (iéi) : Abdjoxﬁinai strength and Endurance
32y —
(4) i (w) Speed
G ! j,
e 4%
v
il
iv
i

’Hﬁ Note : The following question is for Visually Impalred Students only, -
;f(’ i Lieu of Q. No. 27 : 5%
v The correct.formula to compute fitness index'is — ” M P

s

" tm @) Duration of Exercise (in sec.) x 100
LD 3)" 9 x Sum of six pulse counts after test
B @F Duration of Exercise (in sec.) x 100

O
i

(®) 2 x 3 Pulse counts after test =
Duration of Exercise (in seconds) x 100....
© 5.5 x pulse count of 1-1.5 min. after exer01se,
@ Duration of Exercise (in se¢). x. 1100-
2.5 x Pulse count of 1-1. 5 seconds after test

Page 7 P.T.O.
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¢y SO t to —
28. In 50 mt. standing start of Motor Fitness Test, time 15 taken neares
(b) 9thofa second

(a) 10thof a second:
(d) 20thofa second

(c) b5thofasecond

29. Match the following vitamins with their functions :
(1) = Vitamin K (i) Need for blood clotting
(2 VitaminD (i) For protection of cell wall
() | VitaminE  (iii) For vision in dim light |
(4)  Vitamin A (iv) For Absorption of calcium and phosp%lg.zjl{s‘n

A\

_:.."-["Select the correct answer : 4
1 2 3 4

(@ 1 v 1 1

b 1 1 il iv

(¢ 1 iv 1 1

(d 1 iv 1 i

_r-pqiéltlorn to attention is —
: (b)y""t"“)Adduction
% (d) Extension

30. Movement of leg from “Stand

(a) Abduction
(¢) Flexion

31. Match the following :
1) Marketmg (1)  Head of organizing committee
. Committee

(2)* ""tf-CHgiﬁSerson (i) Responsible for liaison with Print Media

Series of contest between a number of &

#7(@) {/Tournament (iii) -
s W - . S Vot
- 2 7 competitors Jn ¥ °

A sports match that has been arranged.fora“}

o YA =

: (4) Fixture @iv)
. -particular time and date A ¥

Select the correct answer :
1 2 3 4

(@ i i i v

(b i 1 iv i

(¢ i i il iv

d i i iv i

075
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g L&
(ai* I{yphosis and Lordosis
() Round shoulder and Kyphosis
(¢)  Scoliosis and Lordosis
(d) Lordosis and Round Shoulders

Note : The following question is for Visually,:Impéliféld"Students only, in
Lieu of Q. No. 82 :

Following are the lower extremities deformmes exoept -
(a) Flat Foot ,sr(b) Round Shoulder
(©) Knock Knee (q)n, sGenu Varum

Note : The following question is for Visually Impalred Students only, in
Lieu of Q. No. 33 : ,,’

Name the test in which endurance is not mea‘:sl;red -

(a) 600 mt. run/walk (b) ; ’H"ar\Yard ‘step test

(¢) 4 x 10 mt. shuttle run | u(d) 6. mlnutes walk test

e Page 9 P.T.O.
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34.

35.

36.

| ' _Reason (R) : There are several ways 0

075

Identify the movement depicted in the picture :

(a) Extension (b) Flexion
(¢) Abduction (d) Adduction

Note : The following question is for Visually Impa'ire'd Stt‘xld'énts only, in
Licu of Q. No. 34 : o

Increasing and decreasing the angle between two body parts are known as —
(@) Flexion and Abduction (b) xAbductlon and Adduction

(¢) Extension and Flexion ‘(d)i' Fle:élon and Adduction

In a knockout tournament 4“‘ Bye w111 be given to —
(a) Lastteam of Lower»half (b) Last team of Upper half
(¢) First team of Upper half (d) First team of Lower half
N "sw/ '“ 5
"D
Given below are the two statements labelled Assertion (A) and Reason (R) :
Assertlon (A) Consuming food that are low in calories and fat, and

inereasing in ph
weight.

that include weight and height ¢
assessment of body fat percentage.

In the context of above two statements, which one of the followmg is
correct — :; .‘3 ;.L_,;

(a) Both (A) and (R) are true and (R) is the correct explanatmn of (A).
(b) Both (A) and (R) are true but (R) is not tl;e correct explanation of (A).

(¢) (A)istrue, but (R)is false. b
(d) (A)is false, but (R) is true, : 3 @

Page 10

ysical activity will help in maintaining a healthy- 1 )

f assessing a healthy body® Welglgt . -
hart, Body Mass Inde.x (BMI) oF
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37. What is the minimum numBer of steps to be done in one minute for 5 minutes ,
as shown in the ﬁgure o Y-
3 24 B
& i
Ti-w '

() 35 @ 40

')

Note : The following question is for VlsuallyﬂImpalr
Lieu of Q. No. 37 : R o

m!sb

nergy giving food except —

(b) Sugar and Jaggery

i&c) Fats and Oil (d) Yellow and Orange fruits==

example of -

(a) Newton’s 1%t law of motion (b) Newgon s 2“‘i law of motion
(¢) Newton’s 3rd law of motmn (d) (a) & (b) ‘Both

075 P ’Pag‘e'zll P.T.O.
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40. Name the test shown in t_tle‘picture :

wh

b & '(a)‘ 4 x 10 mt. relay ~(b) 50 mt. standing start . !
"~ (¢ 600 mt. run/walk (d) Standing board Jump \

EYa
ef’v (1 ‘1  d

Lieu of Q. No. 40 only : o
In arm Curl test, weight of the dumbbell for*vy,omen 185
(@ 25kg () é ,&2%3 f?r j

© 28kg éf’“) !

& g_;.,
e Qlayéd in 2md round, if 14 teams are
urnament ?

(b) 2
d 6

41. How many matches w111:
participating in a knockout

42, /Matf;’hxth@llowmg minerals with their functions :

- Zl) 1f‘I:mn (1) Found in red blood cell

@  Calcium (ii) Found in thyroid hormone

s Sodium (iii) Needed for muscle contraction
(4) Iodine (iv) For healthy bone and teeth

Select the correct answer :

1 2 3 4 ; 4
o Y

i
b)) i v i i
¢ i i i gy
d i i iv i

076
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43. Match the following postural,deformities with their corrective Asanas —

(1) Flat Foot, )
AT ~.‘ “. )‘1
7@ Scoliosis (ii)
(3) Knock-knee | (111)

Note : The following question is for Visually Impalre‘d‘js'ghdeﬁfs only, in
Lieu of Q. No. 43 : '

Lateral curvature or sideways curvature of spme is rieﬁat;ed to -
(a) Round shoulder
(¢) Knock-knee

075 Page 13 P.T.O.
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44. What will be the distance between the chair and marker cone, to measure
agility and co- ordmatlon of semor ‘citizens shown in the figure —

(a) 8 feet (b) 12 feet
(c) 16 feet » (d) 18 feet

Lieu of Q. No. 44 :
Which test is used to measure*‘Physicag

recover after a strenuousé‘g,xermSe ? &

(a) 6 minute walk test * () Rockport 1 Mile test
¢ (d 600 mt. walk/run

(a) Law of Inertia
(¢) Law of Acceleration

076
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Note : The following qq,eStion is, for” Visually Impaired Students only, in
Lieu of Q. No. 45 : ! i |

Which Newton’s law i apphed while swimming ?
(a) Law.of \In__ertlu_q (b) Law of Acceleration

() « ‘L“g\\fiq‘f Acﬁidh and Reaction  (d) - Both (a) and (b)

46 Choosélodd one from the check list of organizing a sports event —
~ .#(a) Accommodation (b) Place of event

(¢) Artintegration (d) Sponsorship

47. Which statement is not true about food myths ?

(a) Don’t drink water during meal

P
(b) Eating potatoes increases obes1ty :*\

(¢) The fewer the carbohydrates healthler you are

(d) Vitamins are essent1al for your body

48.

4 General; Dr. Tedras Adhanm Ghebreyesus.

Reason (R) For children at least 180 minutes of physical activities of ™
5 % which 60 minutes is moderate to vigorous intensity phys1cal act1v1ty )«
should be planned. s T

In the context of the above two statements, which one oﬂthe folloxiv{_irfg‘ is

correct ?
(a) Both (A) and (R) are true and (R) is the correct‘explanatlon of (A).

(b) Both (A) and (R) are true but (R) is not the correct explanatxon of (A).
(© (A) is true, but (R) is false. . B

(d) (A) is false, but (R) is true,: @
i Page 15 P.T.O.

075

Scanned with CamScanner



ol

49.

50. The XYZ school conducted a research in their:

- According to the above data,

&= 4

075

“(a) 419 () 211 N e

Section‘ -C
(Case Study)

Section-C consists of 12 questions. Attempt any 10 questions from this

section. 10 Questions attempted first, will only be evaluated.

and sports, you have to

If you want to be on the top position in games
t of good performance in

adhere to proper sports planning. The attainmen
the field of games and sports depends on effective planning.

Following are the objectives of planning, except —

(a) Goal orientation (b) Making strategles A
(¢) Facilitate recreation (d) Formation of rule and regulatlon

1 i

ix ‘SChOOl and*checked the BMI
of all students and they have shared thexra ﬁndmgs as depicted in the
figure : &5 WY,

Obese

Under Weight

how many students are at risk of theirﬁ}léé.‘lt}i' 1

P W

\_ 3

© 121 ) 236 R W

\ g
& \
4

Note : The following question is for Vlsually Impaxred Students only, in

Lieu of Q. No, 50 : 9
BMI between 25.0 to 29.9 is consndered h

(a) Normal weight (b) Obese;l
(c) Obese (d) Ove rwelght
Page 16
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51. Children and sports are closely related to each other. Children have an
innate tendency to participate in sports. We must focus on the motor
development of the' children. The important thing is that the motor
dcve!opment. of the'\ children should always be according to the
requirement ofithe, sports.
FoqusAv\i‘hgy\\afe{ the/example of gross motor development, except —
“__(a‘) & ru;nﬁi’x\)g- (b) jumping
.‘__‘e"«(c) standing (d) painting
- 52 T:"-I‘h"é chief aim of physical activities during 5 to 17 years of age groups is.to
&% U improve cardio-respiratory and muscular fitness, bone ' health;
Ca Wy cardiovascular and to reduce symptoms of anxiety and depréssion. ' -
) f Rate at which activity is performed is known as — 5 %
‘ (a) Volume (b) Intensity ©7 i
(c) Type of activity. (d) Frequency © &

53. Rock port test may be useful for ihos\ w‘%iv} QE,.Q?E unable to run due to
sedentary lifestyle or for older 1r}’dl1\171 lual: for those of low fitness level or
injury. -

In Rockport test gender value
(@ 1
() O

54. Ina resi__c_{legﬁi“v ii;éa, a camp was organized to check the functional fitness
level of the 8enior citizens. During testing, it was found that there was a
le’ssji'angeiof motion in the joints of upper extremities in most of the

’elderly;people. .

- rich'test is administrated to check this functional fitness component.2s. <

1Y

b

(a)
(c)
075 P.T.O.
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i in Lieu
~ Note : The following questxon ig for Visually Impaired Students only, 1

of Q. No. 54 :
Upper body ﬂex1b111ty of semor c1t1zen is determined by —
(a) Sitand reach testi (b) Chair sit and reach test

() ack scratch test (d) Arm curl test

]

56.; Aichaha a P;D Teacher of ABC School sent invitations to 26 teams to play .
. Kho-Kho under Khelo India programme. All teams accepted the
" invitation. Now, help Archana and suggest her which type of tournament R
- she should organise to make the competition successful. :

wd

(@) Knockout tournament (b) League tournament’ '
(¢) Round robin tournament (d) Berger tournament &
v
} { r"\

o

56. Mirabai Chanu is from a very simple family but she : ays ‘used to dream
big. Though she knew that her family would not be“able to afford her
nutrition still she continued to pursue/ ‘her ‘dreams And finally the day
came when she won the silver rnedal 1n Me1ght“hft1ng in Tokyo Olympics.
The women who got two medalshn 01‘: mplcé in—
(@) P.V.Sindhu :

(¢) Sakshi Malik

(b)”t Lolvina Borgohain
“ (d) Meerabai Chanu

57. Physical educatmn teacher of XYZ school explained how Newton’s law of

m sports. She explained while drlbbhng in Basket-ball.
How: the laws can "be helpful.

A Wh1chl w o ‘motion is shown in picture :

x‘«y ""(in
(a) Law of Inertia (b) & tLaw ofcceleration
(¢) Law of Action and reactioﬂnl (d) Both (a) and (b)

075 —_a "Page 18
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Note : This question is for Vlsually Impa1rcd Students only, in Lieu of Q. No. 57

Application of Newtcms lawg ‘at motion is very useful in sports. In this

context, Acceleratlon is related to —

(a) Newton"s’ﬁr'sﬂt law of motion (b) Newton’s third law of motion

e
\‘1 N

i LF SR

v L

( ) Newtons second law of motion (d) Both (a) and (b)

58 Mamta was practicing the skill of Judo. During the training, her coach
“told her about different skills of Judo and advised her to practlce the kick

5 .1'

¥

,./ £ i

076

regularly.

Which movement is shown in the picture ?

(d) Adduction

Lieu of Q. No. 68 :

Which movement occurs during Arm-Curl test.‘7

(b) Extension

i
.

Note : The following question is for Visually Impa1red Students only, in

SR §

(a) Extension and Adduction (b) ,Extensu% and Abductmn

(c) Flexion and Extension

o \.,,‘

o 1

xPage 19

7@ “*Abduénon and Adduction
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59.

60.

075

During the morning assembly in the school, Anu fell unconscious. She was
taken to nearby doctor. The doctor declared her malnourished and advised
her to take balanced diet everyday.

Balance diet consists -

(a) Macro Nutrients

(b) Micro Nutrients

() Nutritive and Non-Nutritive components

(d) Nutritive component

In general sports biomechanics 1s a quantltatlve based study and analysis
of professional athletes and sports act1v1t1es It:explains how and why the
human body moves in the way that i ‘does i

Following are the importance of blom‘echamcs, except —

(a) Improvement in ‘trai_n'mg

(b) Impxqgeftieri@in equipment
© - finpfovément in performance

(d) Improvementin aesthetic

Page 20
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